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X (AAijA)\lgA)\ggA/\?,l)_l (A25)

36



A.2
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. A)\lgL . A)\23L . AA31L
_ap .
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oood
goooooogoogoonog

2

sin®x = —sinzsiny cos z — sinx cos y sin z (A.28)
gboooboooboooon
cyclic
B ANGL\ . (ANpL\ . (AN L
A=— Z (Aji + Ap;) cos ( 1E ) sin ( T e G5 (A.29)

(4,5,k)

uboboooboogoo
gboobobooboobobooboboobooo Am%DDDDDDDDDDDD

gooaon
i _8J,Am2, [Am%l)\k()\k —Amd,) - A,(j)}
A = O
ANji)2(ANg;)?
i (AXjr)*(AAki)
ANGLY . (ANKLY . [ ANL
><cos< 1B >sm< iE )sm( 1B (A.30)
8J, Am2 Am2 (ATTL2 - Am2 ) A)\12L A>\23L A)\glL
B — rAmy Ams, 31 21) - - A 31
ANi2ANasAg s\ e )\ Tap ) a8
o yelic —4 {5%3 {5%30%3(Am§1)2)‘i)‘j + Cz‘(jl) - Cz(fa)} + Ci(y?b)} o (AN L A3
B ANjjAN2AN23 ANy ) A3Y

(4,9)

0000000 J, = s1ac12823c23513¢5s 00000000000 (n)0 Am3, 0 n00000O

oooooao
1
A](q; )= Am%l [Am?ﬂ)‘k(c%Q - 3%2) + )\zS%Q - (Am§1)2c%2] (A.33)
Ci(jl) = Am3 Am3, [=Ai(AjsTy + Amiicly) — Aj(NisTa + Am3cfy)] s33cl; (A.34)
2a
Ci(j Vo= (amd)(\isty + Am3;cty)(Ajsia + Am3ycfy)siscls (A.35)
2
Ci(j )= (Am%1)2()\i - Am%l)()‘j - Am§1)3%20%20330%3 (A.36)
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0000000000000000 V=2V2Grm.ED Am}, 00000000000000
00000D00000000000000 M ~Amg, 0000000000000 V,Am2,
00000000 Am2,/Am2, <s3 00000

. Az sin(aL + Agl) Aoy sin(aL)
A = 8J.cosAs3; ( oL 1 Aa T (A.37)
N . A31 sin(aL + Agl) Agl Sin(CLL)
B = 8J,sinAsz < oL 1 Asr T (A.38)
Agl sin(al — Ag 2
C = 42,25k ( aL(_ o 1>> (A.39)

Am?2. L
0000000 Ayj=—"¢~0000a=Gpn/v20000

0000 A BODODO 6000000000000 cos(6—Agz) 000000
Am3,/Am%, > 53 0000000 630000000 (A36)00000 3, 00000
D0 ¢ 00000000000000000000

Ay sin(al)
C'= 43%26%26330%3 (21212(&)) (A.40)

000000000 3 000000000000000O (223)0000
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w(p1) vu(p3)

Gr

e (pa) Ze(p2)

O Al: 0000000

obooooooooooooooobooooboooobooobogono

1 a3 d3 d3
dl' — ’ M | 2 b2 D3 yZ

454 o o .

oono

2
mE = (S5) 5 a1 = ¥l (e (1 = 2o

Y w(pa) (1 = °)u(p2){u(pa) v (1 = 7 )u(p2) }* (A.43)
DO00000000000000

|M[? = 64G%(p1p2) (p3pa) (A.44)

D0000000000000 (pip;) = guplp? 0000
0000000000o0o0oo0

d®p3d®py 1 5
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0000000 Pr=pf—ph=pf+p, 00000000
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gooodoooooooo n, 00000000000 ZEE%DDDD
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B GQFm/i 1

T 19273 22x10-6

[s7Y] (A.48)
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00000000000000000000 LO0O000000000000000000
000000000000000 E, 0000 (A46)0000000
d?N 24n,,
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